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The challenge

How?

The achievement

Novel Bromination Process slashes PMI

Br2 in 33% HBr/AcOH

Solvent Swap to PhMe

Two crystallisations 
required for purification

Variable yields and 
material colour

NBS in iPrOAc

No Solvent Swap

Crystallisation from 
reaction solvent

Higher yields and 
consistent purity

Old Process New Process

Water Waste
52% less

PMI
52% lower

Solvent Waste
23% less

659 tonnesCO2 saved*

Facts and 
Figures

What does a 45% 
reduction in CO2 look like?

140
cars driven for 1 year 

84 Million
Smartphones charged

This equals…

or

*per 10 tonnes of key intermediate
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https://bit.ly/3nGSrgZ

